
AU-l530

B.B.A. Part-I (Scmester-I) Examitraaion

BBA-105 : BUSINESS MATIIEMATICS AND STATISTICS

llme : Three Hours] fMaximum Mads : 80

Note :-(1) There are threc Sections (A, B and C)

(2) Section A 20 Marks

SectionB-20Marks

Section C 40 Marks

(3) All questions are compulsory.

(4) Section B and Section C comprises ofshort and long questions respectively, one

cach lrom respective unit having intemal choice from the samc unit.

(5) Show necessary working notes whercver necessary.

SECTION_A

Choose the apprcpriate option.

l. The GCD of42 and 98 is 14, then find their LCM :

(a) 7 O) 147

(c) 588 (d) 294

2. Find the simple interest on Rs. 6,510 at 8% p.a. for 219 days :

(a) Rs. 342.50 (b) Rs.312.48

(c) Rs. 315.75 (d) Rs.310.30

3. Whal are the two natual numbers which differ by 4 and sum oftheir squarcs is 58 ?

(a) -3, -7 O) 4, 8

(c) 7, 3 (d) r, -8
4. Hccma solved 2l questions correctly out of 25 questions in lhc unit test. What is thc percentage

of correctly solv.ed questions ?

(a) 84 O) 78

(c) 74 (d) 88
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I(a) ;Ioslax,bl tc 1(t) -log(ax+b)1c

1(c) - log lxl + c

9- l-hc Number ofperccntilc is
(a) 100

(c) 9

10. The natue ofStatistics is :

(a) An A.1

(c) Art and Science

11. The types of data are :

(a) Primary data

(c) l)esc ptive data

(d) Nonc ofthcsc

(b)

(d)

99

10

&)
(d)

o)
(d)

A Science

None ol these

Secondary dat;r

AII ofthese
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12. Given:Average mean: 15.6 and median is 33. Find out mode :

(a) 34.3 (b) 35

(c) 3'7.4 (d) Noric ofthese

13. Ifthe largest and the smallest obscrvation ofthe data are 170 and 40 respectively then rvhich of
the following is the range ofthc data ?

(a) 150 (b) 130

(c) 140 (d) 210

14. What is coefficicnt of correlation whcn standard variation is 12. l9 and mcan is 40 ?

(a) 30.48 (b) 20.48

(c) 40.48 (d) 48.30

15. Which of the following represents unweighted index numbcr ?

(a) l'isher's price index number (b) value indcx nurnber

(c) Walsch's index number (d) Paasche's index number

16. IfPor (L) = 160 and P0, (P):360, then what is value ofPo, (F) ?
(a) 240 (b) 260

(c) 280 (d) 200

17. If the value of 'r' is 0.18 then conclusion is :

(a) low degrcc conelation (b) fligh degee corclation

(c) Modcrate dcgree corelation (d) No conelation

18. What is co-efficient of correlation, if Exy = 216, n = 10, SDX - 4.71, SDY = 6.03 ?

(a) 0.76 (b) 0.86

(c) 0.96 (d) 0.67

19. Which formula may be used for probable error ?

0.6745x1-r'1 pF =0 6745 x l - r'1{a) P.ll = (bt "--__-
Jn Jloo

.^, ""-q.64i.,'
Jn

20. Correlation is the relation between

(a) Zerc

(c) 1Vo

(d) P.E = 
06ru'r'

variables.

(b)

(d)

l

1x20 20
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SECTION-B

Find out simplc interest on Rs. 1.20.00(l @_t 37o lor 30 months. 4

OR
'l hc sum oftwo numbers is 46. Grcatcr numbcr is twice plus one greater than thc smallcr-numbcr

Fiild out the numbers. .{

2. Inteerate the following &ith respcct to x

I

x.log x log (log x)
1

olt

Solve

3. Find out the value of median from the lbllowing data

Wages in I{s. IO 5 1 l1 I
I5 17No. of workcrs 15 l0 t8

OR

Ilxplain the importance ofstalistics. 1

Find out Quartilc dcviation fiom the following data relatillg to the marks ofthe seven students :

Marks : 50 70 80 60 65 40 90 4

OR

Irrom ft€ following data find out standard deviation :

Mean = 45 ; Median -- 48

Coefficient ofskewness = -0 4 4

Calculate coefficient corelation bctv/ecn two variables X and Y ;

n -- 25, EX: 125, tY . 100, IX'7- 6s0, ,Y'?= 436. :XY - 520. 4

OR

In a distribution o1'16 obscrvations, the valuc ofco-ef6cient ofcorelation is 0.58, calculate thc

valuc ofprobablc crror 4

lia xl '. I

4

4

5

Ivox i4lt6 (Contd.)
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SECTION---C

Solve the following equation :

3x+2Y- 26-0
(1 + y:31 8

OR

A, B and C purchased a car for Rs. 50.000 ofwhich A pays Rs. 20,000 as his sharc. lhey sold

il lo cartl profit of which B gcts Rs. I ,200 and C gets Rs. 1,800. Irind A's share in rhe prolit.

8

8.un ',f . 
oR

I
Solvc:

iJ+l\-x-
dx 3

3. Find out modc :

No. of days abscnt No. of students

l,css than 5 2.9

l-ess than 10

Lcss than l5 .165

Lcss thm 20 s82

Lcss than 25 634

Less than 30 611

Less than 35 650

[,ess than .10 653

Less than 45 655 IJ

oll

vox 1416 (Conrd.)
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From the lollowing find out mean

lncome

0- 100

100 200

200 - 100

300 400

1.00 500

500 600

600 - 700

Itio. of rr'orkers

IO

12

16

2'/

10

15

4

700 - 800

Find out mean dcviation and coefficient of NI.D. from the median weight in Kgs

I00, 105, 110, 5, 120, 125, ll0. 135, 140

OR

Iind the lndcx Number by Fisher's formula :

t996

Valuc

.1

t)

C

8:

8

8

2

l

5

6

Vilur

1995

Price

Item

ll 20

Pricc

5

4

l5 t26
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5. Calculale co-efEcicnt ofcorreldtion between [ncome and F]xpenditure

lncomc Expenditure

45 i5

55 40

55 45

55 Jr]

60 ,10

60 55

65 55

65 6(-l

OR

The following table gives the frequency according io age group ofma*s obtaincd by 67 students

in an intelligcnce test :

'Iest Nlarks
Age in ycars

t8 l9 20 21

200 250 4 4 1 I

250 300 l 5 4 2

100-350 6 8 )

35(H00 I 4 6 t0

s

It

1vox-34336 275
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